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Introduction
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The story started in 2012 when the president of Hong Kwok believed that increasing GDP was equivalent to raising the living standard of its people. However, substantial increase in money supply aroused public discontent. Washing his face and mulling over the imminent press meeting, the stubborn president recalled that he had received the inspection report of Hong Kwok’s economic performance. This changed his persistent belief about GDP and economic growth. He realized that GDP was not necessarily connected with living standard. Then, he decided to make the most proper decision…
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This video clip likens an economy to a person, using interesting analogies to demonstrate how to measure economic performance, and to explain fundamental concepts including the computation of GDP. In simple language, it clarifies several common misperceptions with examples from current affairs.
Key Question

How to measure economic growth and living standard of an economy?
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Key Concepts

1. 3 approaches to the compilation of GDP

2. Components of GDP by expenditure approach

3. Economic Growth

4. Nominal and Real GDP 

5. Per-capita GDP

6. Limitations of using GDP as an indicator of economic welfare
Learning Outcomes

Understand the components of GDP, and GDP’s limitations as a measure of standard of living
Terminology

The terms used throughout this worksheet are in accordance with the Census and Statistics Department, HKSAR. You may refer to the Department website for the precise definition of the terms.
True / False Questions

	1.
	Expenditure approach, value-added approach and income approach can all be used to compile GDP.

	

	2.
	If the real GDP of an economy increases by 2%, the standard of living must also be improved by 2%.
	

	3.
	Hamburgers sold at fast food restaurants to consumers are final goods while beef sold to the fast food restaurants by a supplier is an intermediate good.
	

	4.
	If the GDP of a country comes only from the expenditure on national defence, the GDP will tend to overestimate the standard of living.
	

	5.
	If, in a year, the real output remains constant, while the nominal GDP increases, there must be an increase in general price level in that year.
	

	6.
	Expenditures by households on education services are included in the consumption component of GDP.
	

	7.
	We know for sure that the standard of living is higher in a country with a higher GDP.
	

	8.
	An increase in the nominal GDP of China implies that China is producing more goods and services.
	

	9.
	Goods and services provided by the Hong Kong government are excluded from the calculation of GDP.
	

	10.
	The four components of aggregate expenditures are: private consumption, investment, government consumption, and net exports.
	


MC Questions

1. GDP is a measure of
A) the market value of all goods and services produced within an economy /a country in a given period of time.

B) the market value of all goods and services produced by the citizens of an economy /a country, regardless of where they are living in a given period of time.

C) the total value of production of all resident producing units of an economy in a specific period (typically a year or a quarter), before deducting the consumption of fixed capital. 
D) the market value of all final goods and services produced by the citizens of an economy/a country, regardless of where they are living, in a given period of time.

2. According to the video, which of the following is the key to economic growth?

A) Printing money

B) Technological growth

C) Population growth

D) Increase in government consumption expenditure on military use

3. Fred, a Hong Kong resident, works in South Korea. The value he adds to production in South Korea is included

A) in Hong Kong’s GDP, but not in South Korea’s GDP.

B) in South Korea’s GDP, but not in Hong Kong’s GDP.

C) in both South Korea’s GDP and Hong Kong’s GDP.

D) in neither South Korea’s GDP nor Hong Kong’s GDP.

4. If Fred buys a burger and fries at his favourite fast food restaurant in Hong Kong,

A) Hong Kong’s GDP will be higher, but consumption spending will be unchanged.

B) Hong Kong’s GDP will be unchanged, but consumption spending will be higher.

C) both Hong Kong’s GDP and consumption spending will be higher.

D) neither Hong Kong’s GDP nor consumption will be affected because Fred would have eaten at home had he not bought the meal at the restaurant.

5. GDP can be measured as each of the following EXCEPT:
A) total expenditure on final goods and services

B) the market value of production

C) total business revenues
D) incomes of factors of production

6. The government consumption expenditure includes 
A) government’s purchases of final goods and services.
B) interest payments on government debt.
C) transfer payments.
D) payments made to Comprehensive Social Security Assistance(CSSA) recipients.
7. Suppose the growth of nominal GDP and real GDP is 12% and 2% respectively. Given that the population grows at 5%, we can conclude that there is a/an _______and the per capita real GDP has _______.

A) deflation of 5% ; increased

B) inflation of 10%; increased

C) deflation of 10%; decreased

D) inflation of 10%; decreased

8. If the per capita real GDP growth rate is -3%, we can conclude that

A) the standard of living of the economy must have increased.

B) the population size must have increased.

C) real GDP must have decreased.

D) None of the above

9. GDP excludes important factors that affect people’s well-being, such as the value of: 

i. Unpaid housekeeping services.

ii. Leisure.

iii. Services purchased by households.

A) (i) only

B) (ii) only

C) (i) and (ii) only

D) All of the above

10. If nominal GDP is the same compared to last year, while the growth of real GDP is positive, which of the following will be FALSE?

A) The price level remains constant.

B) The growth rate of real GDP is positive.

C) The improvement of standard of living is ambiguous.

D) The real output level have increased.

Discussion Questions

1. Identify the immediate effect of each of the following events on the GDP of Hong Kong and its components.

(a) James receives payment from the Comprehensive Social Security Assistance (CSSA) Scheme.

(b) John buys an iPhone from a department store in Hong Kong.

(c) Henry goes to a karaoke.

2. In the video, we learnt that there are three approaches to compiling the GDP of an economy. Suppose in the production of the shoes, the raw materials from local supplier costs $3 million, while the revenue from the sales to final consumers is $10 million.  Using the expenditure approach, explain whether the sum of the above amounts (i.e. $13 million) should be included in the calculation of GDP of Hong Kwok.
3. The HK government handed out $6,000 to each eligible resident in Hong Kong in the fiscal year of 2011/12.  
(a)
Explain, using the expenditure approach, whether the sum of expenditure ($36 billion in total) should be counted as government consumption expenditure and thus be included in the calculation of Hong Kong’s GDP.

(b) If everyone (entitled to the cash transfer) uses the $6,000 handout to purchase domestic goods and services, how will GDP be affected?  Explain.  

4. In the video, the president increased the GDP of Hong Kwok by purchasing shoes.

(a) If all shoes are purchased from local manufacturers, explain the effects on Hong Kwok’s GDP.

(b) If all shoes are imported from overseas, explain the effects of this purchase on GDP. How is the change in GDP compared to that in part (a)?

(c) In the video, shoes can be used as weapons.  National defence is necessary for ensuring social stability.  If a government spends nothing on national defence, how will this affect GDP both in the short and long run?

5. The growth of per-capita real GDP does not imply an increase in living standard for every household.  The Gini coefficient, a common indicator of income inequality, shows that Hong Kong is one of the economies with most serious income inequality (above 0.4).  In 2011, Hong Kong’s Gini coefficient was 0.537.

(a) Explain why per-capita real GDP cannot accurately reflect the standard of living for every household.

(b) If the widening of income gap in Hong Kong continues, how will it affect the society? How will it affect multinational companies’ willingness to set up headquarters in Hong Kong? Explain your answer.

6. The video focuses on GDP, while in the real world, another commonly used measure of national income is GNI (Gross National Income)*.  
(a)
State and explain the difference between GDP and GNI.

(b) It is common that Hong Kong households hire domestic helpers from abroad. 
(i) Suppose a new law is enacted to prohibit the hiring of overseas maids in the   economy.  Would GDP decrease in Hong Kong as a result?  Explain.

(ii)Would GNI necessarily decrease as well? Explain you answer.

Challenging Questions

7. Apart from the values of economic activities, our living standard depends on other attributes like air quality. Air pollution is getting more serious in Hong Kong.  Do you think using GDP as a measure of Hong Kong’s standard of living is still accurate? Explain the limits of GDP as a measure of living standard with another example from daily life.

8. According to the latest government population policy report “Steering Committee on Population Policy Progress Report 2012”, the problem of Hong Kong’s aging population is worsening, with labour force expected to shrink. (Source: South China Morning Post, dated May 31, 2012)

(a) How does this affect Hong Kong’s potential GDP growth?

(b) Concerns over aging population are exaggerated as today’s young generation has higher productivity which contributes to sustainable GDP growth. Do you agree with this statement? Explain your answer.

(c) A possible remedy to the problem of aging population is to allow new-borns, wherever their parents’ birthplaces are, to have the right of abode if they are born in Hong Kong. Explain how this act may alleviate the problem. 

(d) However, the policy in (c) is costly. Discuss the costs to society associated with it.
* Former known as GNP (Gross National Product). According to international recommendations and in

line with the practices of other economies, the Census and Statistics Department, HKSAR has renamed GNP renamed as GNI since September 2012. Further information can be found in the Census and Statistics Department, HKSAR’s website.

Compared to the growth rate of nominal GDP, growth rate of real GDP can better reflect the change of standard of living.   

(e) What are nominal and real GDP?  What is the difference between them?

(f) In 2010, the nominal GDP growth was 7.3% in Hong Kong.  Given that an increase in general price level (measured by implicit GDP deflator) of 0.3% and a population growth of 0.9%, what are the growth rates of the real GDP and the per-capita real GDP in 2010?

	Gross Domestic Product (GDP)

	Year
	2006
	2010
	2011

	GDP at current market prices  

(HK$ billion)
	1475.4
	1741.7
	1890.9

	Percentage change for the year
	+6.7%
	+7.3%
	+8.6%

	Per capita GDP at current market prices (HK$)
	215,158
	246,422
	266,062

	Percentage change for the year
	+6.0%
	+6.4%
	+8.0%


	Population Growth

	Year
	2006
	2010
	2011

	Population growth rate
	+0.6%
	+0.9%
	+0.6%


	Change in price index

	Year
	2006
	2010
	2011

	Implicit price deflator of GDP
	-0.3%
	+0.3%
	+3.4%


(Source: Hong Kong in Figures, 2012, Census and Statistics Department, HKSAR)

(g) Using the data above, calculate the growth rates of the real GDP and the per-capita real GDP1 of Hong Kong in 2011.

References
1. The details of the approximation are for your reference only.

Real GDP per capita ≡ Real GDP/ Population
Let Y be the real GDP and P be the total population in the nation, then y = Y/ P is the per capita real GDP. By differentiation, we have
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Suggested answers

True / False Questions:

1.T
2.F
3.T
4.T
5.T
6.T
7.F
8.F
9.F
10.T

MC Questions:

1.C
2.B
3.B
4.C
5.C
6.A
7.D
8.D
9.C
10.A

Discussion Questions:

(a) Since this is a transfer payment, there is no direct change to GDP or to any of its components.

(b) As iPhone is an imported good, its value does not directly contribute to Hong Kong’s GDP. However, the value of services associated with the provision of the goods (e.g., logistic and retailing services) will do. The consumption expenditures of Hong Kong will rise.
(c) This will raise the consumption expenditure and therefore raise GDP.

1. The revenue generated ($10 million) from sales is a consumption expenditure (C) and should be included in the calculation of GDP. The raw materials purchased ($3 million) should not be included as it is NOT a final good or service.
(a) No. Transfer payment is NOT included in government consumption expenditure.
(b) Purchasing domestic goods and services increases consumption expenditure and thus GDP.

(a) If the shoes are purchased from local manufacturers, government consumption expenditure will go up and GDP increases, too. 
(b) If the shoes are imported from foreign countries, the effect of the increase in government consumption expenditure is partly offset by a decrease in net export (increase in imports). Only the value of services provided by the distribution channels will be included in GDP. The multiplier effect will follow but the size of the effect is much smaller compared to that in part (a).

(c) In the short run, government consumption expenditure and thus GDP decrease. In the long run, social stability deteriorates and foreign investment may be discouraged. GDP and its growth rate may decrease.

5.       (a)
Per-capital real GDP is obtained by dividing the total GDP in a year by the 
population of that economy in the same year. It is an average concept and does not reflect the income level of individual household. Hence, an increase in per-capita real GDP does not mean an increase in income for every household. Moreover, high value added industry contributes more to GDP while lower income class seldom involves in these industries. Therefore, even if the demand for the high value added services increases and the economy requires more human capital in this respect, those from lower income class, who do not possess the necessary skills, are not directly better off and hence their income may not be raised.
(b)
Social stability in Hong Kong is likely to be worsened. Multinational firms face more uncertainty and higher costs to invest in a socially unstable area. There may be political risks that discourage their investment. As a result, GDP may decrease.

(a) GDP: total value of production of all resident producing units of an economy in a specified period
GNI: The total income earned by residents of an economy from engaging in various economic activities, irrespective of whether the economic activities are carried out within the economic territory of the economy or outside.
As a close substitute, the value of services provided by local domestic helpers is expected to increase. Yet it may not completely offset the decrease from the three factors below:

1. No more income generated by foreign maids working in Hong Kong 

2. Agency companies may shut down due to no business.

3. Parents deicide not to work so as to stay at home to take care of their children.

Therefore, GDP may drop.

(b) GNI may drop, but probably to a smaller extent as (1) in part (b) is not counted in GNI.
6.  
GDP of an economy could reflect the value of final goods and services consumed by the citizens of the economy and that is only one of the attributes of the living standard of the citizens. Hence, the more serious air pollution is, the less relevant the GDP to the living standard will be. 
Buildings which cause wall effect (屏風樓) are another example. The construction of those buildings involves production of goods and services which lead to increase of GDP, however, the living environment of the citizens may worsen due to the existence of those buildings.
(a) The size of labour force is expected to drop because of the aging population. Potential GDP growth may diminish as a result.

(b) Students could provide their own views to this question. The following is an example only. 
Yes, people nowadays are better educated than earlier generations. This constitutes better human capital resources, which are likely to be more productive than the past. Consequently, potential GDP may increase.
(c) The birth rate in Hong Kong has been very low for decades. The new born babies can replenish the decreasing labour force in the long run.

(d) These babies will compete with local babies for resources like education and medical services, exerting financial burden on the government.

(a) Nominal GDP:  a measure of GDP in which the quantities of goods and services produced are valued at current year prices.

Real GDP:  a measure of GDP in which the quantities produced are valued at base year prices. 

Since real GDP is adjusted for inflation, the figures of different years can be compared directly.

(b) Real GDP ≡ Nominal GDP/ GDP deflator

By using mathematical approximation1, we have

Real GDP growth rate ≈ Nominal GDP growth rate – GDP deflator growth rate

Therefore, Real GDP growth rate= 7.3%-0.3%= 7%
Real GDP per capita ≡ Real GDP/ Population

By using mathematical approximation1, we have

Per-capita real GDP growth rate ≈ Real GDP growth rate – Population growth rate 
Therefore, Per-capita real GDP growth rate = 7%-0.9%=6.1%

(c) Real GDP growth rate= 8.6%-3.4%= 5.2%

Per-capita real GDP growth rate =5.2%-0.6%=4.6%
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